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SECTION—-A 5x1=5

1.
2.
3.

4.
5.

Name few inputs required for cotton cultivation.

_____weaves clothes that have been made on order from the merchant.
Farmer requires borrowing money sometimes to meet the inputs
required for

Workers are paid for this work

At the cloth market, clothes are sold by merchants tothe

SECTION—B 5X2=10

6.

7.
8.
9

10.

What is putting-out agreement?

Why did the trader pay Swapna a low price?

Why did Swapna take loan from the local trade?

Why do you think women are employed in the Impex garment factory?
Discuss.

When cotton is harvested?

SECTION-C 5X3=15

11.

12.

13.

14.
15.

Describe the conditions of employment as well as the wages of workers
in the exporting factory. Do you think the workers get a fair deal?

Explain the condition of employments as well as the wages of workers in
the garment exporting factory.

How do weaver’s cooperatives reduce the dependence of weavers on the
cloth merchants?

Merchants hold lots of power. Explain how.

Differentiate a large farmer and small farmer.

SECTION-D 2X5=10

16.

17.

Who are involved in putting-out system? How is the system
advantageous and disadvantageous of the weavers?

How does market work move in favour of the rich and powerful? What
are the ways to overcome them?
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